BODY BLOCKS

3/8-24 X 2-1/4" Hex Hd Bolt,
- Loc Washer, Hax Nut

4
¥,

3/8-24 X 2-1/4" Carriage Bolt,

Pra Flat Washer, Hex Nut
/

-

P '________ ——@—————————__J

|

T~ 3/8-24 X 2-1/4" Carriage Bolt,
Flat Washer, Hax Nut

“~ 7/16-20 X 2-1/4" Hex Hd Balt,
Loc Washer, Hex Nut

7/16-20 X 2-1/4" Carriage Bolt,
- Loc Washer, Hex Nut

7/16-20 X 3" Hex Hd Bolt,
.- Loc Washer, Hex Nut

1928/1929 Tudor

1-27 Service and Repair




	Page 1

